MERCURY (225 (3.0L EFI])
Serial Mbr Range: 06123222 THRU 0G 750233 (USA)

2-4C With Teflen (92-825207412)

A — 25 1b. ft. (34.0 N-m)
B —201b. tt. (27.0 N-m)

¥ NCHOR BRACKET/THROTTLE LINKAGE

Ref |Clazs|Part

Description

| A

Qt Comment Footnote

2 10 824706 20/ SCREW M3.5 % 20 2
3 824010 2|ANCHOR BRACKET 1
4 10 42975 DRIVE SCREW 2
5 824016 |LATCH 1
E 824015/ CUP 2
7 10 821560 25 SCREW (M3 & 25) 3
g2 23 824013 BUSHIMG 1
) 23 212707 BUSHIMNG 2
10 24 824014 |5PRING 1
1 824011 1|ROLLER GUIDE 1
12 814233 1|THROTTLE CaM 1
13 23 26856 | BUSHING 2
14 1A 826333 B|MNUT 1
15 825377 THROTTLE LINK 1
16 23 93248 1| SWIVEL BUSHING 2
17 826205 BRACKET-0IL LINK 1
18 19285 26| LINK 1
13 10 821550 25 SCREW (M3 = 25) 1
20 i 40063 5|NUT 1
21 825268 1|THROTTLE LEVER 1
22 10 818334 35 SCREW (M3 = 35) 1
23 12 36042 'WASHER 1
24 42327 | FIN INSERT 1
25 23 B21113|BUSHING 1
26 1 826833 B|NUT 1
2 10 40124 | SCREW [ME =1 = 55) 2
28 1A 40021 2|NUT 2
29 42942| CaP 2
30 12 35459 WASHER 1




